'@5 ' 6 ii ?!; M fiinf Briiche, Reihenfolge der Operationen mit
Klammern

Name: Datum: Ergebnis:
e CP-2x g+ G+3r-

(G +3)% 2=+ 37 - G+ 5G-GM-

G+ 3G G- Q- -343x7 -
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fiinf Briiche, Reihenfolge der Operationen mit

Klammern
Name: Datum: Ergebnis:
3 l, 3 1 1, 75 11 3, 3 1 3 1 9169
4 (= —t (== =)= —=2— Y - )X —H (24 =
G 3+r 3737733725 (=37 3G+ = 0
l, 1.2 1 2, 67 7 3 3, 3899 299
)Y+ IX=—(=F+=)Y=(-—)=(—1— —+ =) - = =4
(G +3)* 5=+ P == (1) G+ 3= 2 - ()~ 500
1 1, 3 893 3 1, 11 1 863 143
- — (= — =(—— -+ )+ (-—=2)= — =1—
(6 (3) )% 4 ( ) ( 1800) (4 3) 2(4 5) 720 720
1 3, 1, 2 1 , 169 25
S+ Y-S5 - 2— P - +4-x2P=_—"T=
(3 5) ( (3 )) 225 ( 6) 3 2 36 36

1 3,
e
(c~3)

1069 1169

( 900 900

11 3
—(=+2)=
22 2

127

e L3 2 yeea
(3~ 3)* 3= G+ 3P =)= (4s)
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